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7XMXDQ� SHQHOLWLDQ� LQL� DGDODK� XQWXN� PHQJHWDKXL� NHHIHNWLIDQ� SHQHUDSDQ�

DNXQWDQVL� SHUVHGLDDQ� SDGD� 1RYD� 0DUW�� 3HQHOLWLDDQ� LQL� GLODNVDQDNDQ� GL� 1RYD� 0DUW

\DQJ�EHUDODPDW�GL�-DODQ�&LQGXD�0DWR�1R�����3V��3DQGDQ�$LU�0DWL��7M�+DUDSDQ�.RWD�

6RORN�6XPDWHUD�%DUDW��

%HQWXN� SHQXOLVDQ� WXJDV� DNKLU� LQL� DGDODK� EHQWXN� REVHUYDVL�� 2EVHUYDVL� DWDX�

SHQJDPDWDQ� VHFDUD� ODQJVXQJ� WHUKDGDS REMHN�SHQHOLWLDQ� GLODNXNDQ�XQWXN�PHQJHWDKXL�

GHQJDQ�MHODV�EDJDLPDQD�SHQHUDSDQ�DNXQWDQVL�SHUVHGLDDQ�SDGD�1RYD�0DUW�

+DVLO�GDUL�SHQHOLWLDQ�PHQXQMXNNDQ�EDKZD�VLVWHP�SHQFDWDWDQ�SHUVHGLDDQ�\DQJ�

GLJXQDNDQ�ROHK�1RYD�0DUW� EHOXP�VHVXDL� GHQJDQ�NHWHQWXDQ� DNXQWDQVL� \DQJ�EHUODNX��

\DLWX� 6WDQGDU�$NXQWDQVL� .HXDQJDQ� (QWLWDV� 7DQSD�$NXQWDQVL� 3XEOLN� �6$.�(7$3��

1R���� 7DKXQ� ����� ROHK� ,NDWDQ� $NXQWDQ� ,QGRQHVLD� �,$,��� \DQJ� PHPEDKDV� WHQWDQJ�

DNXQWDQVL� SHUVHGLDDQ� VHEDJDL� SHGRPDQ� DWDV� SHUODNXDDQ� DNXQWDQVL� SHUVHGLDDQ��1RYD�

0DUW� MXJD� WLGDN�PHPDVXNNDQ� SHUVHGLDDQ� EDLN� GL� ODSRUDQ� ODED� UXJL�PDXSXQ� ODSRUDQ�

SRVLVL�NHXDQJDQ�
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